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GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER-5 EXAMINATION -WINTER- 2019

Subject Code:3351101 Date: 26-11-2019
Subject Name: Microcontroller
Time:10:30 AM TO 01:00 PM Total Marks: 70

Instructions:

1. Attempt all questions.

2. Make Suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.

6. English version is authentic.

Q1 Answer any seven out of ten. izl SIHUBL Ald<ll syALoL HALUL

How many address and data bus are there in Microcontroller 80517
8051HI VA 2l $21 o1 526l 1 €97

Give full names:1)SCON 2)PSW 3)ALE 4)IE

21V 411 @uil: 1)SCON 2)PSW 3)ALE 4)IE

What is the DPTR? What is the size of DPTR?

DPTR %124 9? DPTR-l @152 52¢il £9?

Give the full names:1)ADC 2)DAC 3)RXD 4)SFR

2V 411 quil: 1)ADC 2)DAC 3)RXD 4)SFR

List out any four sensors which are interfaced with 8051 microcontroller.
8051 212 67131 Uk Al Al A2l A1 QUi

How many address lines need to interface 512 byte memory with 8051? Why?
8051 u12 512 byte HHZ| oxisal HI2 526l Bi3uU QIS ox152A22 HIZ?

Why we connect Pull Up resistors with 8051? Explain it.
8051 2412 Y&l U (U222 2L HIZ 6Y1814 697 AHMA,

Content of A is 05h. After the execution of CPL A, the Contentof Aiis__h.
A=05h £9. CPL A%isvils12 usdl A= h 24,

Write down name of any four applications based on microcontroller.
HIG5I5216 DUALRA 515 URL Z1R S5l A1 QL.

Internal RAM= bytes and Internal ROM= bytes in 8051.
80514 Hr22dd RAM=__ 6ll52 21 92244 ROM=____ o152 14 €9,
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Q.2 Differentiate Microprocessor and Microcontroller.
URAL R () HIDSIS-21AR 2 HIOSII-AUR 422l dsldd QUi
OR
(@  Explain Von Numenn and Harvard architecture.
(20) Al AU Bied S1RAS 2U5[2522 UHMA,
(b) Differentiate RISC and CISC architecture.
(61)  RISC 21 CISC 252522 423l dslad @vil.

OR
(b)  Explain different addressing modes of 8051 with one example for each.
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£35L s GEls20L A18 805111 (A4 21223{l<a Hig AUHMA.

Explain the block diagram of 8051 microcontroller.
80511l 6&lls SLAUM U1,
OR
What is the difference between MOV, MOV X and MOV C opcode? Explain.
MOV, MOVX st MOVC 423l dsldd AH™MAl.

Draw and explain Flag register of 8051.
8051+l Flag 299222 2121 24 UH Al

OR
Draw and explain TMOD register of 8051.
80514l TMOD 229222 £I31 ¥ 4H4MAl.

Draw and explain RESET circuit of 8051.
8051l RESET u[52 £izl vt AH A,

OR
Draw and explain CLOCK circuit of 8051.
8051l CLOCK =[5z 12l i “uomdl.

Explain Timer mode-2(auto reload) in 8051.
8051l 2159H2 Hig-2 AHMAL

OR
Explain Timer mode-1 in 8051.
8051l 215H HI&-4 AHMAl.

Draw and explain the internal memory architecture of 8051.

80514i He22Ad HHZ| 2A[525U32 £131 21 dHMAl.
OR

Draw and explain IE register of 8051.

8051+l |E 299222 €13l 24, AHMAl.

Explain the classification of instruction set of 8051. Give one example of any

two classes.

80514[ 252l A2 Ail50 52 wiel 515 UBL 6 5614 HI2 25 BELSRE QWL
OR

Write functions of PSEN & EA pins of 8051.

8051 Hi2 PSEN il EA lee] 552 uHMAl,

Draw and explain LCD (16X2) interfacing with 8051 in brief.
LCD (16X2)< 8051 214 <2251 2131 2l 2541 AHMAL,
OR
Write an ALP to divide the data of register A by 2 without using DIV opcode.
DIVl GUAIAL 541 4212, 299%23 Al 321 2 A3 M121AL WIAH dvl,

Write an ALP to do the addition of two 8 bit data stored at internal memory
location 0030h and 0031h. Store result in internal memory location 0032h.

-

Sezrdd HHZHI 264l Qls9d 0030h 244 0034 h Uzl 8-6{2 221l U210 531

el dell S7AI HezzAd HHZlAL diseUdl 003 2h U 2212 53,
OR
Explain stepper motor interfacing with 8051 in brief with diagram.

8051l 212 22uR Hi23< 25401 212l vied Z5Hi UHMA.
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Draw and explain Pin Diagram of 8051 microcontroller in detail.
80511 Ul SIAAIH 2L 24 AU[A2AL2 YHMAl,

Explain Instructions:1) SIMP  2)ADD A #30h 3)IJNZ abc 4)SWAP A
D259 UHMAl: 1) SIMP - 2)ADD A #30h 3)JNZ abc 4)SWAP A

What is stack pointer? Explain its working in detail.
225 W22 4 897 d«ll stiughld Aumal,

Draw the interfacing diagram of a relay with 8051.
8051-{l 18 ke Heazs(al eizl,

What is the SBUF? Explain its importance in communication based on 8051.
SBUF 2 £9? 8051 Uz 2UHLRA 51¥4{l524HI def Hised AHMAL
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